Name:
Circles Review Packet

Per: ___

Answer each question below. Be sure to show all work where necessary:

1) Chords AB and CD intersect at E. If AE = 2,
BE = 8, and CE = 4, what is the value of ED?

F =4
%=

2) Two tangents meet at a common endpoint to form
angle A. If the measure of the major arc is 54—", what is
the measure of angle A, in degrees?

O 1. 935 mver = 135
L{

'k
935;35: @ |

3) In the accompanying diagram, PA is tangent to
circle O at A. IfCB = 12 and PB = 4, what is PA?

(1) 16 (2) 1
(3) 2 4) 4

4) In the diagram at the right, secant 4B intersects

circle O at D and secant 4C at E. IF BC - 150 and
mZA = 35, what is the measure of arc DE?

—_5) In the diagram at the right, the segment
shown are tangent to the circle, Find the value of x.

. fos ]

¢ @3
36
, @9
3
gosal
|—" 2

6) In the diagram below, 4C and 4D are tangent
to circle B at points € and D, respectively, and BC, BD,

and BA are drawn.

1572 127

If AC= 12 and AB = 15, what is the length of BD?
1) 55

)2) 9 {

2) 9 |

3) 12

4) 18

7) Sketch the coramon tangents for the following
circles:




8) In circle O below, if AB = 4, BC = 8, CD = 6, find the
measure of CE.

&= K6

ll)ln circle 0, mAE = 200 and mBD = 60. Find m4C, in

9) In the accompanying diagram of circle 0, AB and BC are
chords and m£A0C = 102. What is mZABC'?

A O
) | @
Bl

12) In circle O, chords AB apg CD intersect at E with
AD =150  anq CB=70 _petermine mLAED and

e, L50+30
11O

! e,
LAEC 70

10) In circle O, with diameter COD apq BC = 130,
determine ’”4’1, in radians!!!!

13) Given the circle below with chord AB measuring 8

inches, ABLCD at E, and diameter COD measuring 10
inches, find each of the following:

a)Ao
b)OE 3

ﬂ




Name: Date: Per:
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Answer each question below. Be sure to show all work and indicate any formulas used.

14. In the diagram below of circle 0, chords 4D and BC intersect at E. Determine the radian
measure of ZAEC.

0+20
4

15. In the diagram below of circle 0, chords 4D and BC intersect at E. Determine the radian
measure of ZAEB.

0
140 %O-qu 455{)5 !HO;K = 110 = L BED & L CEA

O\ 0 2 i
D = 70 L AEB=T0
\s oo |

10 | [y

16. A machine part consists of a circular wheel with an inscribed triangular plate, as shown in
the accompanying diagram. If SZ = £4, and mSE = 140 find m/SEA.

E
50
\. MO %’ )@
. e |
0

17. Two tangents meet at an external point P. If the measure of the major arc created lS =
determine the radian measure of P, 200 -(:D

S-—Tr.iz.)-‘f—): 200 mirer =40
C 20, I

'1



18. In the diagram below, secant PC and tangent PA meet at external point P. If mAC = 200 and
mAB = 120, determine the mzP in radians.

A

200 ~190
> . D

Y. 129
B —_ o
" |

19. In the diagram at the right, secant AB intersects circle O atD and secant 4C atE, If BC =150
and mZA = 35, what is the radian measure of DE.

P B0-%

A A o | 4T
F' 150- %= 30 g | 4

= § K=30

20. In circle O, chords 4B and CD intersect at E with 4D =150 and CB=70  petermine radian
measure of ZAED and 2AEC.

150 +7©
c -?O —_ = "1—‘/ .‘ 'l
X =10 = L am
JO :[_,:' .
A w © 7
v T

A

0 5 3 [ A




Kuta Software - Infinite Geometry

Segment Lengths in Circles

Name

Date Period

Solve for x. Assume that lines which appear tangent are tangent.

1y

15

A |Fa7"> KQF;-Q) q
235 = &l+9¢
(HY =9
X= 16
o
=3 N 7 4w 5(%-1)
x—-6 . 5}(.-5
=%

5)

4x+2 |9

: %@fk I-'J): '9)@{)()

™ DAX+H6 =26
[6 = 4%

K=t

7 <
()F 6t
36 = %*EKQ
K*+B%- 260

(X2 Yx-4):0
4 [y

2)

3(8)= 4 (‘xw\

24 = Hxrib
&=Ly
Wz

¥
6% = Hxm)

26 = HY + |
AO = %
4 6 X___S

6)

x f HX=5.%
bx= 4o
=10

D o~ & B (lec) = ?(rs)
’ (2™ = |
P X7 =l
X*=|

%



Find the measure of the line segment indicated. Assume that lines which appear tangent are tangent.

&

2

11) Find NM

U= ug

/>
Mo X @ K= [

13) Find CE

%)= 2%-5)
HY = 1%%- 1
6= (X
x= 12

%i%) = 0 (29)
E

o KO I6kr GH = By
}@ KEHEX- 2020

= (%rag(x-o)=0
~26 f 10

() = w(206)

957@955:;2% ~&0
= 22
K=F
5 ‘

K @-53(?{ 1—13) = (?U%jl

Y& HOK-29 = K rdir

10) Find KM

. H ()= B(a+g)
2

A= 6X+ 24

4

M 3L@K

)@ %x=0

12) Find NL

;
M

H(x-1)= B x-2)
HY-16= 3X-6

o
x
!
S

14) Find CA
H(B3e) - 2t
i 5 H Y= gy e
(e
EV
16) Find WS
SP (@&)(Q)=(6x Y tex)
‘ = T3
“ St
- e



(5Y6)= )
202K+ 7
2% = 7x

2(x+3)=(E3)
b= |F
K= 1;1

B(x-3)= H(x+5)

4= 4y
Y=l

vr’ "‘ fb“

2(%9)= 3(1)
XX+ 1g = A
AX =L

=y

Bx-2H = MR+ 20|

12,

14,

9 Gj@ 7’"

16.

X=0.5

(2%

1 ( % r3)= 1(X~é>
AeD= A=
15 =X

H(mz) . 5(\/\-‘})
HY+ 19-= 5%- (o
A= X

o) = 6(x6)

K- He = S A
K=35

5(x5) = 5( )
5%+ 452 [OX
5= B¢
=5

Bubble all the correct answers from above. Don't bubble incorrect answers.

Oe Q135 Q105 Q15 Os

Q22 O11 Os
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Answer each question... 18, DE=12. Find DE.

17. AB=10. Find AC.
) B
| E F
A
c
D

19. GH=15, Find GI. 20. JK=4. Find JL.
H \5 .
i ]
K
G
21. MN=x+5, MO=2x-11. Solve for x. 22. PQ=x+7, PR=2x-9. Solve for x.

)@5 -] Kt XA
O\ -
R
P
3

23. ST=2x+12, SU=3x-8. Solve for x.

24, VW=x+27, VX=4x+13. Solve for x.
élwr\a 3B Rl = 3
B I = Bx
e iy
“ 2

Bubble all the correct answers from above. Don't bubble incorrect answers.
O15 O Q11 Q7 Q4 (367 Oz O Os Q9 Q467 O20 Q16 Q12
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Calculate the length of each arc... 2,

- 155, 1 L
A = i W g "
ozl 1o y 7
> .54 T
B
5 4. ‘
s |
s o | TN
= DY 65T
-3 S
5. 6. I
L
LR, W 1y L. n
80 ST
K A3 X
1o
7. 8.
M
34 ;‘CQ__"-K. # < 1’0, T 72
200° 13D “’"g.)
201 L
N 1

Bubble all the correct answers from above. Don't bubble incorrect answers.

Crase /@/zz.se Q’sma QOass 9/35.4-5076.39 '@’113.61%/2.27 Q32534 O3748 g@mz Q4957 /@’ 18.85 ,@/2.44
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Find the area of each shaded sector..
9.

D 2
e -— (TI-
80 2 -2

B
q

(3

g_‘,l

11,

—_—

3 | NP
260 en®

13, 3200

A3 2
il B

15.
. [|16397 i

276° 2

12,

130°

Hod. 54

15, 1.3
)

15031 T

2
T

156.65

16.
21°

A qr.9?
70

M mma"
IAO

dl_
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Bubble all the correct answers from above. Don't bubble incorrect answers.

I

I ) |
4 oY o g% o o o0 o o 2 o o
2.79 3457 127413 14691 .98 B.32 57934 67.09 4578  698.87 31.50 13.1 .54 126575



